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99 9% 9 fRNE (CHILD DEVELOPMENT & PEDAGOGY)

& : e 797 % o7 &7 & [ qag ST [d%ey g

Direction : Answer the following questions by selecting the most appropriate option.

L Uh JH & & wWe

HRH M7 B B ¢

[1] smfeees arerr
[2] siferT oo
[3] il qerer
[4] oI e
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[1] e SqrH

[2] T SUFH

(3] 9 wgT U
[4] ANl SURH
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1.

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3] Speed Test

[4] Performance Test

A teaching-learning strategy in

which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning
[2] Team teaching
[3] Co-operative learning

[4] Programmed learning

Spranger's classification of

personality is related to which

approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach
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Which of the following is not a
symptom of good mental health of
students ?

[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and
limitations

[4] Free from undesirable worries

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which
type of defence mechanism ?

[1] Repression [2] Regression
[3] Projection [4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes

[3] Schema

[2] Basic Instincts
[4] Conservation

"Emotional Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who this

emotional intelligence ?

gave definition  of
[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson
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[A]
Which one of the following is not a
direct method for measurement of
attitude ?
[1] Interview [2] Projection
[3] Questionnaire [4] Observation
'A horse can be brought near water,
but cannot be forced to drink." This
statement reveals the truth of
Thorndike's which law of learning ?
[1] Law of Readiness
[2] Law of Exercise
[3] Law of Effect

[4] Law of Multi Responses

Which of the following is not a level
of teaching ?

[1] Basic Level

[2] Memory Level

[3] Understanding Level
[4] Reflective Level

11. Which one of the following is not a

part of Bronfenbrenner's Ecological
System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Meso system

Which pair is not correct with reference
to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape

P.T.O.
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[1] STl W It
[2] FESTs qedi W Hee SieEi
[3] EHfeeh TafaiEr & AR
[4]
14. O & AEEEN WP S

TR Pl METHhar & ?
[1] AT

[2] QST

[3] S

(4]
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(2]
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[3] IR goR o4 HE
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[1]
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[4]

Level-3/904

[6]

GET IT ON
Google Play

Which way is the most appropriate
for social development of
adolescents ?

[1] Discussion on socialization
[2] Essay competition on social values
[3] Organizing group activities
[4] Documentary on social relations

According to Maslow's Need
Hierarchical theory, 'Esteem Needs'
are which type of need ?

[1] Personal

[2] Social

[3] Intellectual

[4] Emotional

Which of the following task is not

related to Bager Mehdi's test of

Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product improvement related
task

[4] Ask and guess related task

Which of the following statement is
not correct with reference to
individual differences ?

[1] No two persons can be exactly
alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises
only due to heredity.
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[1] g iR foe
[2] SieT R qgT
[3] G AR T
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[1] fassoTEs
[3] dsifes

[2] g
[4] SAEEIRE
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[1] gE-®ieT™

[2] e

[3] SR-EIET
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[3] ¥E 9EAN I @S # 999 &l
[4] 98 AFRH P B &l
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17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport [2] Woodworth
[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?

[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,
which of the following is not a type

of intelligence ?
[1] Analytical
[3] Theoretical

[2] Creative
[4] Practical

According to Kohlberg's theory,
what level of morality is it, when
includes

morality self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional
[4] None of these

21. Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.

P.T.O.
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[1] N & 9F =

[2] S

[3] ogelss

[4] e wd e
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[1] fivea st

[2] aRacHei STgar
[3] fHfved ofavm

[4] IRECHEI ST

fepSTRTaeer & :

[1] s arefaean @i sTaee
[2] EE@ &l AfRar i aTae
[3] TR A & e
[4] @ Afar @i oTae

P THREH & G THIGT Bl & 7
[1] PN fawesyg
[2] GRYEAT i HH
[3] SARRET & HH
[4] FerToTh g
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Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback
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[1] StfaRe SRR &
[2] S SARERET &

[3] SoTd STRERET &
[4] &9 @ B T

21. T 15

grfl, STafh Ie AR oy 128 7

[1] 80
[3] 100

2] 90
[4] 110

o & & SF-91 B 78 BT 7
[1] AicrRaT i Seare

[2] 9 & G BT

[3] Hicifshan et Ee=rer

[4] SOERT F=aT #1 RER

FHEAT ©

[1] Rdfers @ied

[2] MrEEieEd

[3] afia

[4] g™

T O I 5 TR H AERE ©

[2] et
[4] 9IRS

[1] s=a
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[A]
Rohit helps others to get praise. This
is an example of :
[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

What will be the

quotient of a 15 year old boy, when

intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality
[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking

Development which proceeds from
'centre to the periphery', is known as :

[1] Cephalic Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/904
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[T - II (PART - II)
A7 (= g 37T [LANGUAGES (HINDI & ENGLISH)]
& (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

3. W # e ¥ o
E

[1] T - d«eY], I,
Ty
2] ™€ - 944, HE, FH
[3] MR - e, dRIHT,
R(Eel
[4] T - SR, STER, MY
32.
gam 7
[1] &5 79T HH @I HIT T
[2] A9 T GHIRY, S drer AR
[3] &9 fopdl &1 B eI fae wehdl
[4] StET HAT, a9 & T
33.
g7
[1] SIadrE
[2] Jfcares
[3] GRHTETES
[4] WA=
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34.

Iftc & §97 faseq R -

[1] €8 - 38 dfed; T8 - de
(2] g3 - T AT - A

(3] G - Feb; Gl - goaarg
[4] @S - &Y; So1 -

JETEX BT ?

[1] SHEEares |
[2] STifcarees gsT
[3] HTedTErh Gl
[4] eAfeRTaT=e dsT

36. FTH § BHI-61 qH FYH & ?

[1] TR R qE9 3
2] &7 & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] i # STOT Aver X T B

371. fpH 9=
ST e & 7
[1] STeaTqh [2] ST
[3] STgeH [4] =y
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38. {UE F 3t | o7 fasbed gT ¢ 42.

[1] Fheal - HHERE ST 7] §M & ?

2] WA - e [1] TRiEe [2] &eTEe

3@ - B [3] FEe [4] TEe

[4] 3Trbs - TR 43.

BN

39. T ey o foert @ & s

37 [1] siss

[1] gz [2] 7

2] A= 3] @19

3] TR [4] &=

[4] FeeR 44. Oy’ 9= § Ff e B
40. [1] i

g% T 9 e 9 & e A 7 2] vt

[1] 9 3] v

121 [4] 9%

[3] Ja

[4] =ffb 45. ‘ToEH-IEHE B TR F STHIT
a1 P i ofe & o R g ¥

- i 5 [1] @=ar - A

Rl 3@ - hEE 21Ty - T

(3] & - T (3] a§er - T

[4] & - e [4] 7% -  HET
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50. Arrange

The word 'garrulous' means :

[1] talkative [2] abusive

[3] violent [4] abundant

the following jumbled
options in the correct order and then

choose the correct option :
(1) too many
(iii) the broth

(i1) spoil
(iv) cooks
[1] (@), (v), (ii1), (i1)
[2] (1), (v), (i1), (ii1)
[3] (i), (iv), (i1), (1)
[4] (v), (i1), (1), (ii1)

51. Fill in the blank with the correct

option :

Let us stay here, while it ........... .
[1] is raining

[2] was raining

[3] has been raining

[4] had been raining

52. Choose the part of the sentence that

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[A] [12]
31l (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49.
express the correct meaning of the
sentence given below ?
He is too cute to overlook. 50.
[1] He is too cute and he can be
overlooked.
[2] He is too cute but he can be
overlooked.
[3] He is so cute that he cannot be
overlooked.
[4] Although he is not cute, but he
cannot be overlooked.
41. Change the narration :
Kavin said to Mr. Cowper, "Please, 51.
be kind to me."
[1] Kavin requested Mr. Cowper to
be kind to him.
[2] Kavin requested Mr. Cowper to
be kind to me.
[3] Kavin asked Mr. Cowper to be
please kind to me.
[4] Kavin asked Mr. Cowper that he
must be kind to him.
48. Fill in the blank with the correct 52.
form of verb :
You had better ............. your
hands before you eat.
[1] been washing
[2] washing
[3] washed
[4] wash

Level-3/904

[4] the Police-van arrive.
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53. Choose the part of the sentence that

eY

is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with the correct
form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[13]

GET IT ON
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[A]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since
2 O'clock in the morning.
Mr.

from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/904

P.T.O.
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91T - III (PART - III)
Y 1999 (GENERAL STUDIES)
TR AT, il SINEHAT T 9T &9 U9 ST¥EIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

& : R 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

6l. TIRA & G99 X TN Y AT B -

TR W TE Ye ol A Y
X3 TR AR @&, @Y
P R & & 7

[1] SdY
[2] afror

3] @@
[4] Ui=™

fGem # 3 €@ H, Tafh aIel 4.5 9
T HE 31 AR gRT P oA 3

I T -

[1] 10 feHt wiet ger
[2] 12 Tt ufey et
[3] 13 feHl ufet et
[4] 15 TebHt et ger

10.5
ey, 3.5 99 B @ 3
>

e ol Rt ?
[1] 112 [2] 126
[3] 132 [4] 138

Level-3/904

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East

[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138
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AN W 3
e 3>
e =X B :

(1] 162%

2] 3319

[3] 33%

[4] 50%

1865 @ ® |, 660
g &Y 1305
120 &f

S "hd &, d
I T & 7
[1] 220

[2] 440

[3] 120

[4] 1085

66. AET H HEA ¥ 20%

T UH JEd 800 &9 § 12.5

gd P gf e e ® 7
[1] 1259 [2] 14 593
[3] 15590 [4] 16 513

R BT 12 A AT AR HOS
T Bl A SEH QAU 36 @
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826
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[A]
If the amount is 3é times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

(1] 162%

2] 3319

[3] 33%
[4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons
can speak both languages ?

[1] 220

[2] 440

[3] 120

[4] 1085

A reduction of 20% in the price of rice

enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12 [2] Rs. 14
[3] Rs. 15 [4] Rs. 16

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,

then the dividend is :
[1] 2726 [2] 2736
[3] 2796 [4] 2826
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68. T UT 1 ST U ST HIOT :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl d&m M 5, 9, 13

H T HAM 2, 6 A 10

T U w99 B e ®

[1] 602 [2] 592

[3] 572 [4] 582

U fiREd g 9o § "PARTICLE"
@ "USBQFMDIJ" @ "GENERATE"
@& "FOFHFUBS"

M %< 99 H, "DOCUMENT"
fer@m ST

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

71. O Jat P, Q @R 81 U% % 5

¥ wRaT Bl @ R, Q
@ Q, P
B - P
TR @ 7

[1] 22 &2

[2] 25 &2

[3] 30 &2

[4] 35 €

Level-3/904
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68. Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10
respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" is  written  as
"USBQFMDJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

71. A tank is filled in 5 hours by three

pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P
alone take to fill the tank ?

[1] 22 hrs
[2] 25 hrs
[3] 30 hrs
[4] 35 hrs
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12.

x:ﬁ+1
V3-1
+y® BOAE D

_3-1
J3+1

ar

[1] 14 2] 12

[3] 13 [4] 16
efRal @ TH Ui H, A

10d WM I dar B & X 9 14
(SIE]

ST odl &, O A SRt IR @ 24

e f & 7
[1] 31
2] 33
[3] 37
[4] 39

14. T HER Th a8 & 15%

ST 3, OFR 369 39 18 59 aife
g o= g, Ol Sum aM 18%

STl 39 a&] & %9 9 (S0 H) ® ¢

[1] 360
[2] 540
[3] 600
[4] 640

TS B H SHEET 9000
H TEE giE & 5%
B e W 8%
SEEET 9600

g

[1] 3000

[2] 4000

[3] 5000

[4] 5600

Level-3/904
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12.

GET IT ON
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[A]
J3+1 V3-1
If x= and y= , then the
B T B
value of x*+y* is:
[1] 14 [2] 12
[3] 13 [4] 16

73. In a row of girls, A is 10th from the

left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How
many girls are there in a row ?

[1] 31
[2] 33
[3] 37
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640

75. The population of a town is 9000. If

the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of
males is :
[1] 3000
[2] 4000
[3] 5000

[4] 5600
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76. D,CTME @ &1 8, A, E

a1 e 8, C, A Q@18 D, B

EC IS I

[1] A 2] B

3] C [4] D
1. T o

A BT X ¥ &el i ‘g8 W amr

H X 9 9 YR G999 8 ?

[1] fer [2] @&

[3] S& [4] Hran
fesm & Sam ?

[1] So-To [2] So-Yo
[3] &0 -Yo [4] o -To

=1 g Aoft 1 o 1T R

3,13,22,32,59, 69, 120, 130, ?

[1] 201 [2] 211
[3] 227 [4] 232
9 sHi TRl H AAEd 1

T, @ S g R & SRR ?

[1] @& 99 &
[2] 1% gfa &rl
[3] 1.5 @I gis erft
[4] 2 @t ghs eFf

Level-3/904
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76.

GET IT ON
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D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?
[1] A
3] C

[2] B
[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the
girl related to X ?
[1] Father
[3] Sister

[2] Brother
[4] Mother

A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train
would blow in which direction ?

[1] N-W [2] N-E
[3] S-E [4] S-W

79. The next term of the following

number series is :
3,13, 22,32,59, 69, 120, 130, ?

[1] 201 [2] 211
[3] 227 [4] 232

The average of nine consecutive

numbers is n. If the next two

numbers are also included, the new
average is :

[1] remain the same
[2] increase by 1
[3] increase by 1.5
[4] increase by 2
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A afergfe R T ¥ ?

[1] @HgR TE ST AR e
qSilg HAHARTY

[2]
FIeIg STHIAY

[3] =
STpTe aveilg STHIRTY

[4]
LI I v | o e 1 o Al | R

82. fT=ifhd weri W fR ik :
(1)
WO a9 2002 F & T
(i1)
T Sliehrger €|
[1] B (i) & 2B
[2] ®ael (i) G 2l
[3] () TE (ii) a1 G&F B
[4] ()T (ii) SN Ter &

BRI % &9 | S ST B 7
[1] J&IH
PARKIIEK
[3] T
4] feramit

Level-3/904
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8l.

GET IT ON
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[A]

Which places of Haryana have been
notified as Ramsar site under
Ramsar convention of UNESCO ?

Park &
Bhindawas Wildlife Sanctuary

[2] Kalesar Park &
Khaparwas Wildlife Sanctuary

[1] Sultanpur National

National

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

82. Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first
Lokayukta in the State of
Haryana.

[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (1) and (ii) are correct.

[4] Both (i) and (ii) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram

[2] Sonipat

[3] Panipat

[4] Bhiwani
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86.

= |V

T ?

(i) G TG F THIA
(ii) S AR dras

(iii) HrRAr AT Bt
7& HE F T HT
[1] (i) &R (i)

[2] (i) R (iii)

[3] () A (i)

[4] (i), (i) & (i)

q HI-A Ger fFeer ® 7

[1] BRgH

[2] &1

[3] CHUEARAEEH!
[4] Rt SET &=

Freffd & & &M &R
oI & ERT ga 787 Bl © ¢

[1] REmT & gegus

[2]
T

[3]
=

[4]

Level-3/904
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84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (i) and (iii)

[4] (1), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the of
Haryana ?

Governor

[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission
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DI TH AHENE o 7
[1] T G&T it
[2] TG ol BTl

[3] 4l &l Hed

[4] 919 TRES

fFriciiae el @t gien :
(@)

JIR & & B
(i) 9% URAR H TH IS A

T W ' AR weEH (ID)

Srer S|
(iii)

R H

ST B bl SAGLEHA el B
7& FT B T HIT
[1] aq (i) &
[2] (i) iR (i) && T
[3] (i) &R (iii) @& &
[4] (i), (i) o (i) &2 2
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81.

GET IT ON
Google Play

[A]

Who among the following Governors
of Haryana was a civil servant ?

[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi

[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,
death and marriage records.

(i11) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (i1) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.
[4] (1), (i1) and (1i1) are correct.

P.T.O.
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[A]

eY

fr=ifeiiea wuei W foar #ife -
(1)
e Bl
(ii) 98 T & Fpell
gRT HY T Bl
(iii)
BTN T T $ AT B

(iv)
wiaaag i < =&

SEH d § H-A/8 BT g8 o !

[11 @), (i), (iii) AR (iv)
[2] (1), (iii)aﬁ'{ @iv)
[3] ®ad (iii)

[4] (ii) 3R (iii) I

i ¥

[1] 7 3R 4
[2] 10 3R 4
[3] 103IR 5
[4] 128X 5

[22]

89.

90.

GET IT ON
Google Play

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(i1)) He can hold any office of the
profit in the State.

(ii1) He is the President of Indian Red
Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary power granted

under the Constitution.

Which of the above statement(s)
is/are correct ?

[1] (D), (i1), (iii) and (iv)

[2] (ii), (iii) and (iv)

[3] Only (iii)

[4] Both (ii) and (iii)

The Lok Sabha and Rajya Sabha
seats in Haryana are :

[1] 7 and 4

[2] 10 and 4

[3] 10 and 5

[4] 12 and 5

Level-3/904
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[A]
1T - IV (PART - IV)
Y& (SENSKRIT)
fder : Frefrea go7 % v &7 & g aag ST Awey g
9l FRHTTA FErIAMSRA - 94. g Torga -
[1] BrygfEfga =7,7,7
[1] | 3= Srgafen 2] gae: =12,7
S 3] W@: & =89
[2] &€ @i ggam| ] - 8.7
[3] &1 &S ﬂﬁg&'ﬁlﬁfl 95. JHBZ
i -
[4] © A %ﬁqﬁfl (1] ¥ &9 amah:
92. wwy RN 6 AR - [2] Rty
[3] Wep: e o e
1 :
BYRSINISIN (4]
[2] 9rEr<T: 96. ‘3TH
wfeefer -
(3] HAFTgEE av: [1] Fepro=m:
ARSICAREIEH
[4] foertt £ ,
[3] TBET:
93. NIsY - f&HH® grgy 7 TUAq - [4]
[1] =g 7o 97. Y& AT -
1 SR
0] & & [1] T iy FoN SRl
[2] §: o zar: Magrd
[3] F1 ==
[3] AT Fdrsk
[4] T &I
[4]
Level-3/904 P.T.O
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[A]

HEA -
[1] g

2] R%
[3] fere

[4]

SfFRT F HreERa ?

[1] fRgariaee
[2] AudiEERTs

[3] Aegae
[4]

=
o

R 9T -

(11§ o & 3
21 3 & o 3§
3] &1 a1 ¥ 3§
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=
N

=
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=
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FATI: AT A -
[1] rom
[2] Gee
[3] ST

[4] ¥

TR ifETE o AR -
[1] Fear=Tegaar =
[2] SAfereiEds; HHfT
[3] FAMT &Rl
[4]

god e aoe gy ?

[1] e &

[2] =R &

[3] woereq /i

[4]

‘T 3 I=E g Slieged aad -
[1] &

[2] 899

3] eng

[4]
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[
1

QS FeAHEART -
[1] VT

[2] dfrarEs

[3] SR

[4]

HYfErT forier: st -

[1] &g - & - T
[2] TRy - =IO - A9
[3] &9 - dgwaiy - g
[4]

=]
(=2}

ol
=~

JeBhiche HEg MG Iggd: 7
[1] 9==HTEq

[2] T

[3] TeeTEq

[4]

AR IR NI

[1] ey

=]
0

2] gseeq
[3] e

[4]
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[A]

G SRR -
[1] fasesre=

[2] TRE:

[3] A= CH

[4]

‘qaq: - Haar’ sk Y-
QUGIE hHT: iaﬂiaﬂa?‘lﬂ' i%@ﬁ' -

[1] Teidaed - JeHEgaeTy
[2] fecframaga=ry - fadrregaeT

[3] TEAHATT] - TmTaT

[4]

F G TSR JE STEIETR -
[1] gy

[2] srgd

3] sgee

[4] arpfd

Y HH0T @ a1 FE Fd -
[1] 99 - /=

[2] Fefd - foed

[3] ferssfer - wiia

[4]
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[2] &§ - e

(31 3 - =

[4]

‘@, El Gragd AugwEgi ...
TR SR Sferetishaee FRigel -

o
el

[1] ST9uaq

[2] SO

[3] ™"

[4]

‘qy’ g g wRR BY AR -
[1] T - Igeaaq

[2] FET: - TG IHTATH

[3] 9T - TR

[4]

faferr’ gerer TeuR=asa -
[1] fa + =< + Y

[2] o + R +3q

o
el

o
el

[3] fa + o + Y

[4] + +
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‘B TeIgE G TSR -
[1] e

[2] FFeT:

[3] =T

[4]

56 a1 fafafee sea: TR -
[1] e

[2] SAfcisrerert

[3] St

[4]

G’ =T T TR -

[1] feirn-fae=m - arifer

[2] SeHI-SEa= — ane

[3] =qei-Teher=e - A

[4] -

“ SYE,
STy

gRemid & Afiasdr -
RINCINE G R T

3 HISTGR: ?
[1] faere PARGEIGIICRE

[3] [4]
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[1] fasasmensmesy
[2] EhUTETE:

[3] ARAHATTRY
[4] ARSI

S EAEE
ISR -

[1] TSR
[2] 9 ST ad:|

[3] iU FehTeasT:|

EARRIBIEERISERIR]
Q- F-FANSTERE  AS
JEEUHRT -

[1] 7 Tt

[2] & T

[3] 3y

[4] STl afey

‘QT_%':

JeTeX A -

[1] FErRE IR qREae:
[2] HISTE:

[3] TR ST ST &t
[4] 8 7
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[1] 9l 5 el =
[2] aoft =7 TR =
[3] qrefl: & oe =
[4] Wi qresw
T o7 TS -

[1] TR

[2] e

[3] TR

[4] TEHR:
M e -
Hyfaarse: ?

[1] wreE:

[2] &

[3] Sfady:

[4] e

T w

. e -
[1] HgHTHY
[2] H=ITH

[3] FaTeHIteRHY
[4] &Iy
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o 7

[1] Geeney
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[2] TEREHEIES
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132. JfAG A9Ad -

(%) =AfireBToT- (37) |

(@) gareERRer- () foae:

(9) SEMEES-  (3) AT
® (@ @ @

11 g & e §

21 § & & 3

Bla e g g

HRSIicTehM & el TSl ST 1”7
3 HISTER: ?
[1] geaaiien
[3] GHTEieR:

134. “%: % eI EIg IgH,
ToBe & q¢ AR
LERSIEAGERLICEICHH
PI-Hl e T8I 11”7 e
EIERIECACTE Gt
(1] g
[3] S&E

[2] Sfcrar&qaH T
[4] iUy

[2] GEHTEE

[4] qrEaEadn
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[1] SFE==amE:

[2] I

[3] erfarsmife:
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TR % 7

[1] i et
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. NI Ti?l'ﬁﬂ T 8, o 6 e R @ R ' given by darkening complete circle using Black ball
point pen as shown below :

O @@ ® ® O @ ® O

The answer will be treated wrong;, if it is marked, as given
H P gR & e ¥ bolow 9 g
oO® @ @ O®® ®
g If you fill more than one circle it will be treated as a
ST wrong answer.

1. 6 FE F-JRaH d 39 JEeE & U & W Rl e WA w4 (

provided in the Question Booklet for the same.)

8. @l I Fa OMR
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. W

(white fluid) is not allowed for changing answers.)

9. T% U & ot Ru 7w R fasedi § 9 SRud fogew & T OMR ST) 056
¥ W & IR W Sfhd F P 9% SH gaa & S Gl 81 (Out of the fou

Sheet. The answer once marked is not allowed to be changed.)

10. 7=l GARET HT % 30 IR TF B AST 7 A T I§ W B A B
i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not fol
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the speci
Answer Sheet.)

11. 957-GRH T I T FH AMGES T H, Fih HE G RREfT F (9eT-gRawm @ SR = & ww § e
F BiaR) A U JRaw §C JuMe TE FA® T (Handle the Question
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

12. HQ‘[—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13. ot @ qdien Sfd/d ¥ 19 0 IR UeEN WA & SifaRe e UER @ ued-
ToR, AR 6, SR SUHT A Rl o TR H AN A QA N AT ST FA B SFGAC T 8l (
not allowed to carry any textual material
any other material except the Admit Card and Identity Card inside the examination hall/room.)

14. TREE 3 I8 TN W T0E ¥l ST sasr FE (A Fo) ofX weaN wH f@m (

his/her Admit Card (Roll No.) and identity card to the Invigilator.)
15. &= e a1 Haes @ A9 Gﬂqﬁf % o Eb:l"és STl oTae WM A BiE| (No candidate, without special permission

the Superintendent or Invigilator, should leave his/her seat.)

16. FEXT FE® B AT IR T (U B 0 swnr =l wAE
HAREl T g IR BEEE A WK TE %
Al AT STCT OMR SR O #f FeiiRa @M W ot ol e ot e & of e & e T St Rl
e @ T 9 99 # SEF @ S R |
A HIl (
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified
should be properly inked i.e. they should not be either over inked or dried in nature.)

11. (Use of Electronic/Manual Calculator is prohibited.)

18. G B H SR & i, orvaedl fefrem # & v e/ Ry
et 3 ol a1 dea a8 3 fremt w Rfed @ SINGIN g (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

19. el B & 9eT-gRE oI IR T W PiE A ST T HX (No part of the Question
be detached under any circumstances.)

zo.qﬁwmﬂwgéﬁw,m%ﬁm/aﬁa@sﬁﬁlﬁwww—qﬁ%%aﬁmwﬁq% A oo WY 3 AeA-
ST I (

Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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